TR 2 5FE

(31 5ME)

hB7 o F—=NT 1 Xy TN DFE

TLEERRFEEBEFAYSR)

B

8 H30H(%) SE 924 X5 64

6,585YARD PAR72 . FUWGEIIILZEEESREILO—X)
Bz K 4 T B OUT| IN |GROSS|H cp| NET || & *
1 H B VMY I74—ILK 38 38 76 7.9 68.1)|FEEBE
2|1 #F BHE |/ 40 40 80| 10.6| 69.4|%E @A
3|2 A F # |[F & 40 35 75| 55| 69.5(|%E&EBE
4 || B — |F IR 38 40 78| 8.0| 700[F:&&EA
5(E JII B Bl (MmEEVFIIL 38| 41 79| 8.9 70.1|%F:&&EAE
6= # x| FWE 38 38 76 41|  T71.9(|FEEBE
7 (#K A 2 |®IRC 39 42 81| 9.0 72.0%:&&EAE
8l&%F K E |REEG 43 4 84| 11.9| 721|FEiEB
9(B £ F — |&£IRG 40 40 80 7.4| 726|%:&EEAE
9L KX & A |[gEEE 40| 42 82 9.4| 726|F:&EA
9(# W B 2z |B W 39| 41 80 7.4| 726|F&EA
12| W ERXR |HhHE 41 43 84 11.1| 72.9(%&:&EA
1BERAKRK # ZH|F R 42| 41 83| 10.0| 73.0[F:&:&EA
13|B # IE X |(f1 =& 39 42 81| 8.0 73.0)|%E @A
13|18 & f# 7 |(mEEULIL 37| 42 79| 6.0 73.0(FE&EE
161K F KR |[MMEXH 43| 42 85| 11.6| 73.4|F&&EE
17 |8 & F £iRC 38 42 80 6.4| 73.6|%:&E&EA
18 |# H [ & |®IRC 43| 42 85 10.9| 741|FE&EBE
19|88 ¥ K f# |&IRC 41 45 86 11.8] 74.2|F:E @B
20 Il & i |HEER 42| 41 83| 87| 743|FEiEB
21 i 3 F B |£RG 43| 40 83| 8.1| 749|FE&EiE
22 I & BZH |K2/KE 44| 40 84| 90| 750|FiEiEB
238 & B B [YVIoI74—ILX 41 44 85| 9.9| 75.1|F&&EA
24 (/v 1L £ |BREE 42| 43 85| 9.8| 75.2|F%:&&EA
25 ||H ;M |[®|IRG 44| 43 87| 11.3| 75.7|%:&&EA
26 (7% H S |®IRC 43| 43 86| 10.2| 75.8|F&E@EiE

26 H |l [&IRC 40 45 85| 9.2| 758

28 |F8 # Ot |REERE 40| 42 82| 6.1 759

29 A X 8 |F & 44| 44 88| 12.0/ 76.0

=0/ — B |mMEXSR 45 40 85| 88| 76.2

() & = B [BELUEE 44| 44 88| 11.8| 76.2
1/6R=2 hETILER




8H30H(%) & 924-R15 64

6,5685YARD PAR72 R FEWLEDLZEESELT—X)
G| K 4 B OUT| IN |GROSS|H cp| NET || & &
2| X BE X [f1 B 40| 44 84| 76| 764
32 |#h #t ¥ | FILE 40| 44 84 76| 764
34 B F ELX [HhhS 35| 46 81| 45| 765
35(E ;I BE 5h |&IRC 45| 44 89 12.4| 76.6
B(fE LB F | Jr—LAMEH 39| 47 86 94| 766
37|12 A = & |[F R 45 39 84 73| 76.7
B B — F |FLE 41 42 83| 6.1 769
9(F B & 7 |ELUEE 42| 44 86 83| 717
08 B % BB |gEEE 44| 43 87| 9.2| 778
40 ¥ #1 FO|[®IRG 43| 44 87| 9.2| 778
42 (# WL B th [T—ILFEH 44| 42 86 81| 779
42 (&8 H H |&RC 43| 47 90f 12.1| 779
M5 B FH O|(NEXER 48| 41 89| 109 78.1
M8 A B F |ERC 40 47 87| 89| 781
46 |#8 B g |[hhd 47 43 90| 11.8| 782
47 |88 %2 K #f [fEE S 43| 45 88| 9.7 78.3
48| H F # |/ 46 41 87| 83| 787
8|F K F 2 |MEEUNIL 43| 41 84| 53| 787
5018 W &= |B W 48 43 91| 122 788
50 (8 W IE 1T [YA274—ILK 47| 43 90f 11.2| 788
52 (% ih sh |0 E 46 39 85| 5.7 79.3
53 (1t R—1E |&IRC 45| 43 88| 85| 795
54 |& H & — |[BEZC 46| 44 90| 10.4| 796
55 H  # |[HhHS 43| 45 88| 83| 797
56 |1 H F E |J+—LAMMEH 45| 45 90 10.2| 798
57 | H % |®IRC 47| 45 92 12.1| 799
57\ HA X |FIWZE 44| 44 88 81| 799
5K B Z2 |[KEDA 48| 43 91| 10.9| 80.1
59 | T B 5 [ge&C 43| 47 90[ 9.9/ 80.1
61|85 B — B |[®/RC 47| 44 91 10.8| 80.2
62 & Il |/ AW |[HULGE 43| 48 91| 10.1| 80.9
63 ||;/ E i |€RUVIOX 45 47 92| 109 81.1
64 |A B & 1Z |[FIE 47 45 92| 10.3| 817
65(FH = B B |[3—ILFEH 47 42 89| 7.0/ 820

2/6R—2 hET L TER




8HA30H(%) SmE 924 -XRi5 64

6,5685YARD PAR72 R FEWLEDLZEESELT—X)
G| K 4 B OUT| IN |GROSS|H cp| NET || & &
66 (K8 O f# — [/h 43| 46 89| 6.7 823
67 [fEAAK ¥ |/ KE 49| 42 91| 85| 825
67 /v JIl B = [BEZEC 47| 46 93 105| 825
69 (& H 5h X |FLIUZE 44| 47 91| 84| 826
N|IE 2 £ — |B W 51 42 93| 10.2| 828
(L X B B [hhE 47 45 92| 9.1 829
72 |#8 [ = X |[d—ILF@EH 46| 43 89| 6.0/ 830
BIF H & & |B W 46 48 94| 10.4| 836
74 R FE B 2 |[hhSE 46| 47 93] 86| 844
75 (£E )1 X |fEHERE 46| 46 92 75| 845
76 (B Z B — |794 50 46 96| 11.4| 846
77001 O 1§ B ¥ -CCae®E 44| 50 94 88| 852
18E W F & [HhE 48| 47 95( 95| 855
NIE X & [EREE 48| 50 98| 12.4| 85.6
80(F¥ H & 2 |&®RIVVIR 51 43 94 82| 858
81|/ B #h — |[REDA 44| 50 94 81| 859
82 (#t & B & |&IRC 46 47 93| 7.0 86.0
83| % = T |g£EG 48| 44 92 52| 868
84| K F |B W 49| 47 96| 9.0/ 87.0
85 [{EANI B’ % |Fx')—&IRKE 43| 54 97| 9.4| 876
86 [ K T 2 * |[®IRG 47| 49 96| 8.1| 879
87|# # B &8 (B W 51 50| 101| 11.5| 89.5
88 ||& B £ |A W 53 50, 103]| 12.2| 90.8
89|h JII — B |&IRC 56 50/ 106| 12.3| 93.7
90 ¥ K B f1 A 48| 56| 104] 9.7 943
o1 | B % i |&IRC 92 45 137 11.7| 125.3

B A E — |[FEE K&

BE B R B |d—ILFEH Rz

/)il B X |®IRC Rz

= T th & |FIE Rz

¥ FE = AR A R 35

h & & Z |[gE&EC Rz

Ml A B 2 |gE&C Rz

3/6R—T FETILER




TR 2 5FE

(31 5ME)

hB7 o F—=NT 1 Xy TN DFE

EEMRFEEFBI S R)

B

8A30H(%) SmE 254-Ri5 34
6,685YARD PAR72 R AWGEDS )L 7EEE(BWLO—X)
Bz K % R OUT| IN |GROSS|H cp| NET || & =
18 & F/ E |F R 43| 41 84| 145| 695|FEEBE
2|"r H & F [geEG 40| 45 85| 13.1| 71.9|FEEBE
3Ife # ¥ [REEG 44| 47 o1 17.8| 73.2|FEFEBE
4% Nl & N |[&IRC 45| 49 94| 20.5| 735|FEiEB
5[ &F & = |REEG 47| 46 93| 18.6| 74.4|FEFEB
6|1= & & — |®£RG 44| 46 90| 14.6| 75.4|FE&EE
7% & EEMH [JA—LAMEH 46| 46 92| 15.4| 76.6|F&&E1E
8|k )l K & |&RG 44| 54 98| 205| 775
9% H & A |BELURE 46| 45 off 13.1| 779
W2 A F E|F K 44| 47 91| 13.0] 78.0
1"|E 3 & t [ KEDE 50| 49 99| 19.6| 79.4
128 K = |¥-CCrEE 46| 50 96| 16.2| 79.8
13[4 W & B |&iRC 48| 56| 104 23.8| 80.2
140 B B |[B/KE 46| 54| 100f 19.7| 80.3
15 [iF K K |&IRC 58/ 49| 107| 26.4| 80.6
16 |[{& ¥ IE & [Y1274—ILX 48| 51 99| 16.1] 829
17|19 # & M |FLE 54| 50| 104| 20.7| 83.3
18| & & B Y1 I714—ILK 48| 48 96| 12.5| 835
19 |h0 #& S |[ERG 48| 49 97| 13.1] 839
20 |[#F £ {§ — |&IRC 50/ 53| 103| 16.6| 86.4
21 |8 # # 5B [ELUEE 57| 62| 119| 31.0/ 880
22 B R & X [BELUEE 56/ 50| 106| 17.9] 88.1
23| H E &F |[&RC 54| 58| 112| 21.6| 90.4
24|15 O # th [&RC 60| 55| 115 21.4| 936
25 (& M B — |74—LAMEH 56 59| 115] 20.3| 94.7
fa B #E K |YII74—ILX Ri5
& £ |0 B2 Ri5
x X @ |FWUEE Ri5
4/6R—= FETIILER




TR25€E (1 5@)
PP TN T4 X2y TIINIHER

LEER PR (XFAY S R)

%

8A30H(%) & 234-Ri5z 04
5746YARD PAR72 FL. ARSIV DEEESREILO—X)
B B 4 OB OUT| IN |GROSY[H cp| NET | & =
1|/ # M = |KEDE 45| 42 87| 15.3| 71.7|FFEEB
2 |ABtEZ 1 F VM2 T714—ILX 42| 45 87| 14.3| 72.7|FEE B
| A EEHZE(EH W 45| 43 88| 12.2| 758|FEiEBE
4B8 & o F [HohS 40| 44 84| 78| 76.2|F:EEiE
5% M # + |&IRC 44| 43 87| 80| 79.0|FEEB
6|7 R B F |7A—LRAMMEH 47| 48 95| 15.3| 79.7|FFEiEB
7)h @ A E |0 H 46| 44 90| 9.8| 80.2
8|= #F £ K |[JA—LRMEH 48| 45 93| 12.6| 80.4
O & M F |VAT—ILKX 51 46 97| 14.9| 82.1
10 (8 B E=MF |FWE 45 45 90| 7.5 825
1|5t SKEFEI [®IRC 45| 49 o4 11.1] 829
12| B & F |[ELURE 47| 48 95| 11.8] 83.2
13| M % & |EWUEE 49| 47 96/ 12.7| 83.3
14| B WP53F |[d—I/LFEH 47| 48 95| 10.1| 84.9
15| f = £ |FEIE 47| 46 93| 7.6| 854
16| & BEEF |/ W 47| 48 95| 9.4| 856
17|86 B £ F |€£RC 51 50 101 15.3| 85.7
18 IR H EHEF |d—I/LFEH 48| 46 94| 80| 86.0
198 H & F |FIL#E 51 45 96| 9.3| 86.7
20|t & FERKF | E 47| 52 99 12.1| 86.9
21 K 8 + [J\ E 48| 51 99| 11.6| 874
22 |78 K R F |[bbhS 55/ 45| 100| 10.2| 89.8
23 |8 # HEF|TFEE 52| 50| 102| 8.6 934
5/6~_R— iR L DE




T2 5EEE15m)
P 7 o 5—N\T14x vy TIIL78BHE
TEEMRFRE(ZFBHYISR) HiER

8A30H(%) ZN& 94%4-KRiz 04
5746YARD PAR72 L. ARSIV DEEESREILO—X)
B B 4 OB OUT| IN |GROSY[H cp| NET | & =
1| A BEiEE |9+—LXMEH 48| 54| 102| 295 725|FEEBE
2 [# NIl AEF |FUEE 44| 47 o1| 18.4| 72.6|F:&:&E@E
3 T BEAK (L K 49| 44 93| 19.2| 738
47k £ B %= [&IRC 45| 47 92| 17.2| 748
5188 & 8 B KBNS 47| 45 92| 16.1| 759
6l B ;& F |V12I71—ILX 49| 46 95/ 18.3| 76.7
T K EEF |ELEE 50| 46 96| 17.6| 78.4
8t H F#EF |I+r—LAMEH 52| 57| 109| 18.9| 90.1
9H O F9# |&IRC 94| 52| 146 18.3| 1277

6/6R— hET L TER




